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Directions: Choose the best answer. Answer ALL questions. Show ALL work in column 2. If there is no
mathematical work to be shown, write an explanation or definition to support your answer!

1. A system of equations are given below.
X+2y=5
2x+y=4
Which system of equations doesgiot have the same
solution?
AL 3x+6y=15 | A2) 4x+8y =20

2x+y=4 2x+y=4
V() x+2y=5 ;<x+2y=5
6x + 3y =12 4x + 2y =12
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2. Which graph represents the equation y = [x-2|?
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4. Officials in a town use a function, C, to analyze traffic
patterns. C(n) represents the rate of traffic through an TF n re presends e numbcer

intersection where n is the number of observed vehicles
in a specified time interval. What would be the most
appropriate domain for the function?
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[1] {"'-2’ -1’ 0! l! 2! 3! "‘} (3) {0: 1 ] 1; 1 i 2. 2 oy }
2 2 2
(2) {-2,-1,0,1,2,3) 0,1,2,3,..}
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5. Over which interval is the function to the right

increa'sing? , Ingreasng
(1)-1<x<4
@2)-3<x<3 \
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(4) 1<x<4

6. A water tank is being drained by a pump at a

constant rate. The volume’in the tank, V, in gallons, is

given by the equation: V{(f) = -4t + 280, where(j)is the

time, in minutes, the pump has been on. Based on this

equation, which statement is true?

(1) The tank lost 280 gallons after 4 minutes of
draining.

@ The water tank started with 280 gallons and is
draining at a rate of 4 gallons per minute.

(3) The water tank is being filled at a rate of 4
gallons per minute until it reaches 280 gallons.

(4) The water tank started with 280 gallons and is
filling at a rate of 4 gallons per minute.

rate of C“L“"*JC‘L start, begmning
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7. Which inequality is represented in the graph below?
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2\ (2) y<-3x+4
mEe e (3) y 2 —4x-3
ps 7 (4) y<-—4x-3
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8. Which value of x is in the solution set to the system
of equations below?

Jse ehiminddion method or maimx

- feYe :
@ 2 9x + 6y =36 )J tl @) E.] (Z]?))
2 3 10x -4y =8
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9. Create an algebraic equation for the following Aenctoie

staternent then determine the value of the number‘

3 +
Thiee times the sum of ant number and SIX is equal to

twelve @@@/mat number.
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